
�������	
�������
	��	���
	��������	��	����

���

��������	
�	��
��	�
����
	
�	��
�����	���������������	
�	

�������	�����	��

�������	
������
����
�����
��
��
�
����������������
����
������

	
�����������������
��
��
��
��������
����������	
�
��


���������	��	
�������	
�����������	������������	�������	��	����������
���	�����	����	�����	��	������	���������	�� 	!"#$%&!"'�	����������	(	
)�	������

*+����	����	����������,����
������-����"%.-����/���

���������	��	����������
������	 ���	 ��!���"#�	��	�$��������	
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+	���0����	������&��	��	������	��	���-���	�1����	�	������23�	���	�����	���������	�	����	�����	��	0����	

����-��	�	�����	�������	��	!$	-����4��	5�������������6	��	���4�-��	78���	 )/	9������������	:��	��;������	��	
���<���	��0�������	���	�=���������	���	����23�	�0����	�	%$>	��	?�������	@���=	#%$	��	���������������	�����A���	
�	 �������23�/	B�	 ����������	 ������������	�	���������23�	���	 ���<����	 ��������	 �������	 ��0�����	 �	 �������	 �	
�������������	��	�����	��	�������	����������	��������	������	�	�1����	�	�	������23�	��	����	�����/	7����	
����<�	�����	��������	���	���<����	������	�������	5'!>6	�	�������	�=�����	��0�����	5!�!!>6/	B	�1����	�����	
��	�����	������	��	��	�	0�����	�	���	���������23�	��-���	��	:����	���-����	����	����	�=������/
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���)�������������*/	+	����8	D��	�������	���	

��	�4�	���-���	������	���	�����������	�:	�4�	��������	�������	���	�4���	�����4��	D4��4	����-����	�4�	�������	������	
�:	!$	4���	5�������������6	�:	�4�	78���	 )	�����-�/	�����	�:	����	�4�	��:�	��0������	�����8	:���	�4�	�������	D��	
����������	���	��;�����	D��4	�	%$>	�������	��������	�:	?�������	����=	E#%$FG	�4���	D�	���������	�4�	�=��������	
D��4	����������	D4���	�������	���H	����	�4��	�4�	�������	�����	D��	��������	�8	������	�����4��	:���	�4�	��:�	
���	��-4�	��������	��������	��������	���	������������	��������	��	I$$>	�:	�4�	������	���8��-	���8	��	�����	�:	�4�	
�������	���	�����������	�:	�4���	�����4��/	J4���	D���	����	����	�����4��	:���	�4�	������	������	�����8	5'!>6	
���	��:�	�=������	��������	5!/!!>6/	J4�	�����	������	�:	�����4��	������	:���	I	��	#	���	�4���	������������	D��	
���0��	��	���4	������/

+
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 ��0���������	 �	 �����������	 �,�	 ����������	 ��	

�������	��	����	��	�������23�	��	0��������	���	��2��	�	
��	������23�	��	����2��	��:����	�����-������	���������	
���-,�����	�	����1�����	��-����	��	�������	������C-���	��	
����	��	�����23��	��	������	���	K����	��	��/	5ILLM6/

����2��	 ����	 �	 ����2�	 ��:�������	 ��	 ������	
�����������	N	�������������3�	��	����	���<�������	���	
����	��=�	��	�����������	�����	��	;������	�,�	��	���-�	
���	1������	�<�����	�����������	���;�OA��	����P�����	
N	����������	�����	����������	0�����	��	������	�������	
5
����4�	 ��	 ��/�	 '$$!6/	J��	 ����2�	 �������	 ��	���	
����������	 C�-3��	 ��	 �������	 ������C-���	 ������	
��������	�	�����	��������	��;�	:��23��	;���������	���	
�	�����	<	�	������23�	�	�����:��,����	��	���:C�����	����	
������	 �������	 �����������Q	 ��2��	 �C�����	 ���:������	
�-��-����	 ��	 �����	 ���������	 �	 -�������	 ��������	 ��	
��������	��������	5���A����	ILR!6/

B	 ���4��������	 �����	 �	 �����	 �������	 �	 ���	
�������23�	���	�	�������	 ������C-���	<	 �����������	
�����	����������	��	�����	������	��	���	���:���-��	
�	 :������-��	 ����	 �����	 ��������	 ���������	 �����	 �	
��������4�	 �����	 ��	 ���������	 ���	 ����G	 ���������	
������	�������	��	��	��:����	N	���������A�23�	�����	C�-3�	
������	��	��������	-��<�����	5K����	��	��/�	ILLM6/

K������	��	��/	5'$$!6	����������	�	���������A�23�	
��������	��	�����	�������	��	�����A��	��	�����	7�������	
����	������O���	���	�	C�-3�	����-���	���	�����	�������	�	
����������	��������	���	���<����	��������	���������	�������	
�	��0������	��<�	��	�����	�������	���	���<����	������	
��������	��O���	�������	��0�����	�	������<����	������/

K����	 ��	 ��/� 5ILLM6	 �����������	 ��	�����A��	 ��	
���4�-��	�����	 �����	�������	 �	 ���������	���	 ���<����	
��������	��������	�������	�	��0�����	�	������	�������/

	+������	����	 �����	��	��/	5ILRM6	��?��S��	��	��/	
5IL"I6	�H	����	0��	��	���<����	��������	��������	�������	
�	��0������	��;�	���-��	�����	<	�	�����	����������	�3�	
��	������������	����	����-�23�	��0����	C�-3��	���<�	�3�	
�������OH	���	���	����23�	�	����	�����/	

 �����	 ��	 ��/	 5ILRM6�	 ��	 �������	�����������	 ��	
-����4���	�	��������	���	�����	���������	 �	�������	0��	
�4�-��	�	����	��	�����	��������	����	�����	�������������	
�3�	���-�������	���	 ���<����	��������	 ��������	 ������	
�	������<����	������/	+�	�����	0��	?��S��	��	��/	5IL"I6	

���������	��	���<����	��������	 ��������	���-������&��	
���	���<����	��������	�������	��:�������&��	��	�����	
����������	�	������������	���	0����	��	1������	���������A��	
�	������	�	�	C�-3�	��	������/

�������	 ������	 �����	 �	 ���4�-��	@����	���-��	
K����	��	��/	5'$$!6	����H	�����	0��	�	�����	�������	������	
�	���	����������	��������	���������	�����������������	
��	 �1����	 �	 ��	 ������C���	 ��	 ���	 ���������23��	 �	
������	 ���	 ���<����	 �������������	 �	 ���������	 ���������	
���������������	���	���<����	��������	���������	�������	
�	 ��0�����G	 �����	 ����O���	 �	 �������23�	 ���	 �����	
����������	��������	��	���<���	������<����	������/	

+������	����	K������	��	��/�5ILLM6	�����������	
��	����	��	���4�-��	 ��������	�	������2�	���	���<����	
���������	��<�	��	���������23�	���	���<����	��������������	
������<����	������	�	������	�������/

)���8	 5IL"R6	 �	K����	 ��	 ��/	 5'$$!6	 ����������	�	
����-�23�	��	�����	�������	����	�����	:����	���	�����	���	
���<����	��������	��������	�������	�	��0������	���-������	
���	���<����	��O����	��������	���������������/

 ��	���	��A�	T���;�S�	5ILM%6�����	���������	�����	
�	���������23�	��	�����	���	���<����	������	�������	�	
��������	��������	��	�����23�	��	�����	�������/

?��	 ���0�����	 ��	K������	 ��	 ��/	 5'$$$6�	 �����	 �	
�����	�������	��	����	5�������������6	��	���4�-��	+����	
������	 <	 ��������	 �	 ���������A�23�	 �����	 ���	 ���<����	
��������������	��������	���	���<����	��������	��������	
�������	�	��0������	�=������������	��	��	�������2U��	
���	 �����	 �������	 ��	 ���<����	������<����	 ������	 �	
������	�������/

B	 ��������	 ������4�	 ����	 ����������	 �	 ���-���	
�	 �1����	 �	 �	 ���������23�	 ��	 ������-����	 ��������	
���	 ����	 5������� ������6	 ��	 ���4�-��	78���	  )	
0��	 ����-��	 �	 �����	 ��������	 �	 0���	 ���������	 ���	
��-��H	������	 �����������	 ������C-����	 ����	 ����2��	
�����������������	0��	����-��	�	�����	�������	������	
�	������������	 ������������	�	��&����23�	�����	C�-3�	
���	�	�������	������C-���	�	��������	�	�����������	��	
���	���	���������A�23�	�����/

�������
	�	����
��
�����A����&��	 !$	 -����4��	 ��	 ���4�-��	��	 �����	

78���	 )�	���	������	��������	�����	I$	�	I'	��������	
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���!�	"# �����$%��������� ������ 	��" ��"� ����&� �'(�	

��������	 ��	�����A����	 ��	������������	 �������	 ��	
����������	�	)���;�	��A����	K�+�	�����	������A����	��	
�����O���	��	����������	(	
)�	��C�	�����	�������/

���	�	��;�����	��	������	��	������-�����	���������	
���	 �����	 ��;����&���	��������	 	 ������23�	 ��<���	 ��	
���<���	 ��0�������	 ��������	 ���	 ����23�	 ��	?�������	
@���=	E#%$F	5��	 ���	��	������	K�+6�	����O��	��	�-��	
�	%$>	�	������	���	��-�����	������H	��	5)����	K/+	(	
J�����	�	 �-������6�	��	��-����	��	��2��	:����	H	=����	
��	 ����23�	 �0����	 ��	 :�����	 �	 I$>�	 ����	 ������23�	
�����	��������������	����	����	�����3�	��	�����������	
��������	�	�����	����23��	�������	��	���O���	��	��	
�O����	#"	4�����		����	���������	�������23�/	

 ���	�	�������23�	:����	�����A����	����	�����U��	
������������	 ��	 ����	 ��	 �����	 ��	 �������������&��	
�����	����	�	�	��������	��������	:��	����O���	�����2��	��	
���<����	 ������������	 ����	 ����-�23�	 ��	 �����	 ��������	
��C�	 �	 ��������	���	 �������	 �������	 �	 ���;������	0��	
���������	�	�����/		

B�	�������	��	���������A�23�	��������	���	������	
��������	 :����	 �����:������	 ��������	 ��0�����	
����������������	 ����	 H	�4��	 ������������	 ��-��������	
�	 ���-���	 �	 �1����	 �	 �	 ������23�	���	 �����������	
���������/

+�C�	��	�������2U��	:����	�����A����	:���-��H	��	
����	��������	���������23�	5��-����	I	�	'6/

����
��
��
+�	���<����	��������	��������	��0�����	�	�������	�3�	

������������	����	����������	���	!$	�����	����������	
5I$$>6	��	�������23�	��	�3�	���	��	���<����	������	
��������	 �	 0���	 ���������	 ���	 �����	 ����	 '$>	���	
�=���������	 �	 �������������	 ��0�����	 �	 ��������	 ���	
R$>	 �	 #!�!!>�	 ���������������G	 ��	 ���<����	 ��O����	
���������	 �����	 ��0�����	 ����	 ��������	 ��������O���	
����	 �	 ����-�23�	��	�����	 �������	 ��	!�!!>	���	 ����	
����������	5J�����	I6/

B�	�����	���������	��	�������	�����	��	��������	��	
���,�0����	��	C�-3�	�����	:����	��������	�������	��������	
�	������/

V�����	��	�1����	��	�����	����&��	����������	���	
�����23�	��	��	�	��,�/	+	���<���	�������	�������	��0�����	

������	��	����	��	IL	�����	5R!�!!>6�	����	��	I$	�����	
5!!�!#>6	�	��,�	��	��	�=������	5!�!!>6G	��	��������������	
���	��������������	�������	������	��	����	��	'$	�����	
5RR�RR>6	�	����	��	I$	�����	5!!�!#>6	5J�����	I6/

+	���<���	������	�������	����������	���	��	��	
����	�����	���	����	�=���������	�����	��	����	��	�����	
�����	�	����	�����	��	��	���<����	5J�����	I6/

J+��@+	IQ		���0�,����	 ��������	 ��	 �����	 0��	
����������	5=6	�1����	��	�����	����������	
N	 �����	 �������	 ��	 -����4��	 ��	 ���4�-��	
78���	 )�	��	������	���	���	���-��/

�������� �-�
����
������
. / 0

+��� II M &
�1�2 II ' &
�(34 IL I$ I
�(32 '$ I$ &
��� % I &
�334 I & &
�332 I & &

+���	(	���<���	������������	��0�����G	+�
	(	���<���	������	��&
�����G	+���	(	���<���	������������	�������G	+99�	(	���<���	��O���	��&
�����	��0�����G	+ 9�	(	���<���	�������	�������	��0�����G	+99�	(	��&
�<���	��O���	�������	�������G	+ 9�	(	���<���	�������	�������	�������/

�9)��+	IQ	?����	 :���-��H	�	 ��������&��	 ��	 �����	 ���������	 0��	
�������������	��	�����������	����-��	�	�����	�������	
5�6/	 +��<���	 ��O���	 �������	 5996�	 ���<���	 �������	
�������	 5 96�	 ���<���	 ������	 �������	 5�
6	 �	 ���<���	
������������	5��6/		



�������	
�������
	��	���
		��������	��	����

��( �������������	����� �

�9)��+	'Q	����������23�	:���-��H	��	��	�����	�������	5�6	�����	
����-���	���	�����	���	���<����	�������	�������	5 96�	
�������������	 5��6�	 �����	 ���������	 5++6�	 �������	
�=�����	5 �6	�	��O���	�������	5996/

 ��������
J�����4��	 �����A����	 ���	 K������	 ��	 ��/	 5ILLMG	

'$$$G	 '$$!6	 �	 K����	 ��	 ��/	 5ILLMG	 '$$!6	 �������	 �	
���-���	�	�1����	�	�	������23�	���	���<����	����������	
N	�����23�	��	�����	��������	C�-3�	����	��	��-��H	������	
�����������	 ������C-����	 ��	 ����	 ���	 ���4�-���	
 ��������	+����	������	7�������	����	�	@����	���-��	
���������������/

?�	0��	��A	��������	N	���-��	���	���<�����	?��S��	
��	 ��/	 5IL"I6	 �	  �����	 ��	 ��/	 5ILRM6	 �H	����	 0��	 ��	
���<����	 ��������	 ��������	 �������	 �����	�����-���	
����	�����O���	����	���<���	 ��O���	 ��������	���-������	
��	 �����	 ����������	 ��	 ��	 ��:�������	�3�	 :�����	 ��	
���<����	��������	��������	��	0����	�3�	������������	����	
����-�23�	��	C�-3�	��	0����3��	���<�	�3�	��	���,�	��	
������H	��23�	��	����	�����G	��	�����	0��	)���8	5IL"R6�	
K������	��	��/	5ILLMG	'$$$G	'$$!6	�	K����	��	��/	5ILLMG	
'$$!6	 �H	����	 0��	 �	 ���-��	 ���	 ���<����	 ��������	
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